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150 m = 455 m/H = 033 H I L iBmoEHBANEEBEL) 00+20+06+0.2+00= _ 28 A!
(REE)
R+ %] 004 B + 033 H = 037 H
#BRET
(HEHIRA) | 04 m3+ 190 m x 15 m = 316 m3
. 316 m3+ 85 m3/A = 004 H
I _ 009 02 H
° TR wEaw
04 m3+ 190 m x 15 m = 316 m3
316 m3+( 36 m3/B X 1 &) = 009 H TEHEAEH 19 m + 15 m = 02 [H
BEMEMR [ 100 m = 20 H = 50 m/H TEHHABHK 02 @ x 28 H= 06 H= 1 H
d IRE| (Glik+H#E) | 150 m = 50 m/H = 030 H 0.30 05 B
KEZHABH B x 02 @ = B = =]
BT 03 H = 030 H NI TKEILL LR EKY  KEZTE
TEREESEEAYK 06 B - 17 = 04 B = 1 H
%ﬁl 2 2
28 m'+= 268 m/H = 001 H
. R
I . 0.02 =]
B 28 m’t 250 m¥/H = 001 B
BBEEE = 15 / 025 x 2 x 35 x 00148 = 622 t
001 B + 001 H = 002 H

X aTiE: BT +HEHILT S,
bT#2 ExEHM (F /) EF1BERT S,
cITIE EREHM (2 \E 1B AT .
IR A LEEEEDOREVIFSIEEIRT S,
dIf2:bIEMNERTLTHRET S,
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1. SAMEdR
WA - (B2 AR H=2.0m W= 1500 . 0250 X 200 X 2
X 0.0148 = 3552 t
BEEMXR H=2.5m W= 1500 .~ 0250 X 200 X 25
X 0.0148 = 444 t
BEEMXR H=3.5m W= 1500 .~ 0250 x 200 X 35
X 0.0148 = 6.216 t
a&t 14208 t 14.21 t
2. XRBEES
PRP D450 *iEY N= 3 H
PRP®200 H=20m 1E% |N= 2 H
PRP®200 H=25m 2E% |N= 18
PRP®200 H=3.5m 2E% |N= 1 B
AsEiZET ith N= 5 H
U\ 12 H
=X 128 x 2 AN = 24 24 N




